EARAZROREIERT — 2 N—XBISY —F 20215E8R 128 (&) 5ME#IE4H

mﬂﬁ% 3/ N\ 45FAKE B R
[A&4£) 1 7% :1,200,000 @ 2 3 :480,000 @ . 33 :300,000 4 ~ 4 3#:180,000 @ 5 7 :120,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
N - > N :15. -3 . - KHHRE (A1E)
i NP VY > 3 N 1(1_5)4 3-32 |38.8 4 (ﬁg) FOEE (e
L= R B:YarFhv~ [ipapses]
B EETre 15, e . — 2 ARER (M15)
olgli| TATHRZAL RN ave | T ®S Y s
R:Tx/—*/ B:Y—Iry SREABS
MAEA : —o- - EEH (ffE)
31812 JITF7Y—hrL AL 4 3 oo (11.115/.2% 1-2-1 39.7 2 (453) ok
8/ Bixv T —L—> B4 RlaA
LS 4 3 | FEHEE 1:17.2 10-7-7 [39.6| — 12 | 424 |EBEHE (1E)
4|5|5| B>/ T 56.0 (6) +3) FHE At
R:T7—IKI-X B:4UHpA-X KEHS
. ARIFES 7. -6~ . — EBEE (E)
507010 X rOX7 % 3 A51_0ﬁ (11 117/25) 7-6-6 40.1 9 e(,g; el &
R:vENTA— BN 37 il SEERE
S 1HEFHE : -9 = EHE (fafs)
6 METETINIESS it 3 el 1.(127).9 9-9-8 |[39.7 6 (4_6‘8 E%fgﬁ
R:F1—TTUF>T B:&4x%/7—0 11]:: I - 3°d
o N [cyee : —5- - TRIEBEA (MOHE)
’ 3| NEFRLA K i 3 i (17;1;% 5-5-5 | 40.5 3 (5;9) ;ng
LHIIEIR BHITIvT o AEZ &Y b
S . 4 3 | BtEflE 1:20.1 8-10-10 |41.5| — 7 508 | KAIfE (A4E)
] > PR 56.0 (51 %) Cry) | O I TF
Ly RXIN—4 BANILELRTHEYR 25 B
N - - N JEMEER :20. -11- . — BHBESE (ia1E)
9 4| TN=51 =2y # 3 e 17205; 11-11-11 [ 41.2 8 ::; THmS (el
T/ =42/ B:TI—NIANy b pinksgaes
= \ 43 | ERRE 1:20.1 2-1-4 | 43.9| — 5 506 | TESEEA (fAHE)
10/5/6| 77— L7L1/1N= 56.0 (7€) (+3) | BEEX
L:x XS BiRHHRI-IR FLENRB
) 4t 3 | BIH 1:20.3 12-12-12 [ 41.4] — 10 | 437 |ll#tspS (GAfn)
11| prer7i— 5.0 (3/4) (g |BHEZ
Ribh—t>va—-4> BN TIL-X BR&=H IXF177—L4
- e : -8~ — EATE (fafg)
ol g| 71352 i 3 CEH 1.(210).5 6-8-9 | 42.7 1 (3_63 i
Lir—Y% B:AYIRNTAZY A &|IE
® I —F—EBIERL
13—7—
2al=7F= 12,6,8,11,3,9,10,2,7,5,4,1
Ga=r= 6,12,8,11,3,10,5,9,7,2,4,1
40 —F— 12,8,11,6,3,10,5,7,9,2,4,1
[ RN
B OB 8 770M 714K 8-11 430M e & 6-8 450 3ER 8-11-12 1,260M
% B 8 170M 8-12 500/ | | # B 6-8 1,290 | | 3:&&E [ 8-11-12 8,340M
1 120 11-12 260M B E 8-11 1,120/
12 1504 B H 8-11 2,390M

ARICOVWTRDTEEERROODE. TR LIV,



